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Create a simple traffic light system. The system should change the
blink order of the LEDs, after a set length of time: from green to yellow
to red and back again.

intred =10;
int yellow = 9;
int green = 8§;

void setup(){

pinMode(red, OUTPUT);

pinMode (yellow, OUTPUT);

pinMode(green, OUTPUT);

}

void loop(){

// green off, yellow on for 3 seconds
digitalWrite(green, LOW);

digitalWrite (yellow, HIGH);

delay(3000);

// turn off yellow, then turn red on for 5 seconds
digitalWrite(yellow, LOW);

digitalWrite(red, HIGH);

delay(5000);

// red and yellow on for 2 seconds (red is already on though)
digitalWrite(yellow, HIGH);

delay(2000);

// turn off red and yellow, then turn on green
digitalWrite (yellow, LOW);

digitalWrite(red, LOW);

digitalWrite(green, HIGH);

delay(3000);

delay(15000);

}



